Test 3 Review Am\u' *3
1Y

For questions 1 —6, state the type of problem andilculate the answer.
1. Parents of a college student wish to set ugcanunt that will pay $350 per month to the
student for four years. How much should they degpasv at 9% annual interest,

compounded monthly? MoV

PUA. LY

Bl — . E(\-U#@YA)/(;)

P =$14,064.67

3. Your friend’s payments on his new car are $524& month. He receivec-ade-

r, and received a financing packhgewas 8.9% annual interest,
compoun onthly for five years. What was thal fourchase price of the car?

PVA. P/
. 5ALL7 ( | — L\ 4+ D-W‘l)ﬂ) )/ (00%4 fl'z.)

- A'\S 4+ 3000 = TYiad stmer
25,319.83 + 3000 = $28.319.83

4. A company estimates that it will have to replagiece of equipment at a cost of $10,000
in 5 years. The owner wants to have this moneijlabla when the equipment is replaced.
He can make fj en earngstat 6% annual interest compounded
quarterly. Ho be?
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E=hoyn—| $ 432.46




inna wants to begin saving money for a new $he can mak_of

into an account at her credit union which @&gsannual interest compounded monthly.
How much money will she have available for her awin three years?

= F=V.

VA, i
v (Y =
F: —_— $ 5813
L ’
n= M’t

6. The manager of a manufacturing company knowassttiey will need a new machine in one

of their factories. The machine will ¢ 0. The manager has ined that
the h. They can th rest
n. The credit union will cha2f6 per year compounded monthly. How

much are their monthly payments for 4 years? .‘) .
(7

b E2? oy
Ap\,,--\'.;‘. m ‘- s..“ ‘ - L\'&'&-)

t -

Y= \2,500-~ V2500 (0.7)
- \L=00 LO.“)

Example 7:Given the following Venn diagram, which region(sake(s) up:

E =$216.95

I\

a. A°NB

B oy

b. A°NB°
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Example 8: Find the number of elements in each set.

a. n(B U C) ﬂ AC) e e e i e

f
PN (.o-v-oo\
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P /

b. n(A°U(C® mwB‘B'C
NG (C—L"Qb)c)
AN N(cv %('3)
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Example 9:800 college freshmen were surveyed regarding #grewoliment in Math, Physics
and English classes. The survey revealed thenoitn

Mysics and Math
th
168 were iiii"ii |i Phisics and English

cs
101 were e ed in all three

212 were enri||W' iii_and English
h




a. How many were enrolled in Math or Physics?

b. How many were not enrolled in Math or English Wwere enrolled in Physics?
C
(M VE) (\ Y = 03

Example 10:Suppose 4 pens are selected at random from admaicing 9 yellow pens and
6 blue pens. In how many ways can you chooseaat leyellow pen?

Conglacs)
b Y ._? E - Uﬂ.\ue..tsg - Ec.
0 _
= cliss;n) = s
Bz ¢[a,0)xu) . WS =S
S o = [\3S0

O~y

Example 11: A club has 58 members, 38 men and 20 women. mdndtiee must consist of
8 people. In how many ways can the committee sbo$iat most 1 woman?

M
? o,0) W, ) = HY,403, Wz
7 clao)\) ([34,D 1151,%5, rmJ

‘bolj‘bo%) 13

Example 12:A business organization needs to make up a 5 mefubeiraising committee.
The organization has 10 accounting majors. andahtia majors. In how many ways can the
fund-raising committee be formed/if at most 1 aetmg major is on the committee?

Acct Faan.
\ 4 c 0% ¢ 44) = F00

o) S clioP) x c(43) = SO

L
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Example 13: If a coin is tossed 14 times. A(S) SICS ™ B ND) 'S'Kq

a. What is the probability that heads will comeexpctly 10 times?

E= C(Aossos, 3 o* Weu) Ple) = e _
= M, ‘;03'_ \0O\ oy ¥et o.06

b. What is the probability that heads comes upa@idt 12 times?

=041 oait, Hads PlE) = | ~PLED)

E= M = CD (D15 = \-ggg x=[0.9)

Example 14: A box contains 20 computer chips, 5 of whichdegective. Seven chips are
taken out at random for testing. What is the pbilig that nls) ~ LL'D‘DJ ‘D 277,520
a. at least 4 are defective? -

N Gad _ AVEO
4 3 csyxcs)3) ras PR ——
S 2 Cls,d x s = wS J
9 230

L = | 0.0%070
[ %
b. at most 4 are defective?

N bund Compenet

4 3 Dek  buoodt

1Y (e v A

[2 5 wore

:) .; <. cds,s)- (15D = 105

?(E) = |- \’LEL)

) - —‘—?-b:_—-' - 0.99%0b
77,530
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PRINTABLE VERSION

Practice Test 3

Question 1
A problem is listed below. Identify its type. AM..,‘.\:,

Mr. Garcia is planning for retirement. He deposits $700 each month into a retirement account. The
account pays 6% per year compounded monthly. How much will he have in 22 years when he

tires? -
retires '.p v

a)  Present Value of an Annuity

b) = Amortization

wValue of an Annuity

d)  Present Value

e)  Sinking Fund
f)  None of the above.
Question 2
Congratulations! You were the 10t caller on the KMTH morning show and you just won $7,000.00.
After you calm down, you decide to put the money into a bank account so that you will have even

more money for a trip to Europe. Snurling Bank tells you that they will pay 4% per year
compounded monthly. How much money will you have for your trip in 7 years? FV

a)  $9,256.60 One +lne Degosid -~ 000
b)  $9,261.60 F= PO+

<
¢)  $9,257.60 - 7000( \ & o.o‘l/n)

d)  $9,254.60
e)  $9,259.60 = $ ‘\j'z_s 7. (,°

f)  None of the above.

Question 3

Jennifer bought a brand new treadmill on a credit plan at BeFit Exercise Equipment. BeFit will

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012



Print Test Page 2 of 12

Aty

charge her 18% per year compounded monthly. If her monthly payments will be $150 for 2 years,
how much was the original price of the treadmill?

A
a)  $3,001.56 bev. P-E \ -fl*-v)
L
b)  $3,007.56
_1_4-\
0 1= I B (\%o-\‘th'?.)
4 $3,003.56 - ( 04s/12)
) $3,006.56 \.J

f)  None of the above.
Question 4
A problem is listed below. Identify its type.
After graduation in 3 years, Antwone would like to take a much needed vacation to the Caribbean
Islands. He anticipates that the all inclusive vacation package will cost him $4,000. His bank will pay

7% per year compounded semiannually. How much does he need to deposit into this account each
semiannual period, so that he can take his vacation in 3 years?

b 77

a)  Present Value of an Annuity

b) = Amortization

\ ‘ /s
Sml\': M-o-\eﬂ
Sinking Fund

d) ' Future Value with compound interest T,
S\"'\k-'b ti.wJ-L

e)  Present Value with compound interest

f) = None of the above.

Question5 A “A“"S

Esther pays $355 per month for 6 years for a car. She made a down payment of $2,500. If the loan
costs 7.1% per year compounded monthly, what was the cash price of the car?

a)  $18,263.80

b)  $3425200 ¥ = E(]- \-\-u 3/
z 'SSS'( - (1~ Dﬂ\/n}‘ )/(0071].7,)

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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= AD,HL3. %0
+2,5S00.00

—

¢)  $29,252.00 2.5 y * 3.0

d) = $20,763.80

f)  None of the above.

Question 6

Given the following sets

U= {247.9,8,1820.71 44,

A ={7,15,19,33.37,44} Co
B{%%%Eé? M/f‘fla "IN

C=1{4,
c

Determine the set A (BmiC). A , Lﬁ n C—)
voe ai,qullal}U 5 ‘-'1)'5'53
b)  {2.4,7,29,33)

¢) {2,49,19,33}

d) - {2,7,9,29.33} 3 A4, 4,29 \3‘5}

o) 12,4,92933}

f) = None of the above.

Question 7

Given the following Venn diagram

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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(EXR

26

Find n[ (AuB )~ C)].

b3 oo

b) 16
0 21
d 14
e) 19

f)  None of the above.

Question 8

Given the following Venn diagram

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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Find n[ ( BRC)® ].

24119 F4 44 )

a) 5
b) 28
0 42
d) 73
e) 59

f) = None of the above.

Question 9

A survey of 394 children given at a local elementary school showed that 225 like chocolate ice cream
150 like pistachio ice cream, and 119 do not like chocolate or pistachio ice cream. How many
children like at most one kind of ice cream mentioned in the survey?

C
a) 375 a(CV® =14

b) | 294

n(LuP) ol U -\\9

¢ 125 =34 -\9

i W )

a

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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¥ AAOD = A (O A (R = AlAne)
d 50 '\Lc'u?) = alr n® < A (D)
f)  None of the above. \m =N LL A?)

Question 10

A survey of 500 high school was taken to determine their favorite chocolate candy. Of the
500 students surveyed

109 1i 1x, 121 like Reese's Peanut Butter Cups, 64 like
Snickers and Twix, ,mme's
Peanut Butter Cups, and 60 like all three kinds of chocolate candy. How many students like Reese's
Peanut Butter Cups or Snickers, but not Twix?

a) 31

b) 74

¢ 103

d 21

e) 43

f) = None of the above. SOD-L.‘“\‘,

Question 11

A license plate consists of 2 letters followed by 1 digit. How many license plates are possible if the
1st letter cannot be I nor O, the digit cannot be 0, and *

a) 6,760 C‘
x g X
v a
\.\ ff
1 »w O
d) 5616
e) 4,800

f) = None of the above.

Question 12

How many permutations can be formed from all the letters in the word ENGINEERING?

I\ \elecs n'

—— e
v\
A“‘ . h!-‘ e

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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= I}
a) 39,916,800 N=- > _ .
) 435,600 G- 3\ .3 ) !
277,200 -
d 144 K-
¢) 108,900

f) = None of the above.

Question 13

After a bride has interviewed 8§ DJs to play at her wedding, her fiance tells her she needs to narrow it
down tof3 DJs. In how many ways can she rank the 3 DJs?

b Orcler MMers - Ve,

b) 56

3
c) 24 P (Q) )
d) 40,320
e) 3

f)  None of the above.

Question 14

In how many ways can 4 cards be drawn from a well-shuffled deck of 52 playing cards?

a) | 6,497,400 Order Does Mo MMt
by e(s%9) = 170,725
¢ 24

d) 270,725

e) 16

f) = None of the above.

Question 15

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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A fast-food restaurant offers 6 different burgers, _s, 8 different flavor drinksi and

9 different flavors of ice cream. In how many ways can a combo containing 2 burgers,
-, 3 different flavor drinks, and 3 ice cream flavors be made?

a) 175 _

P
200
Lwy) x o) x (WD« ¢ (4,3)
¢) 404,640
\ ¥\ 20O
dy 54 >N
e) 2,592

f)  None of the above.

Question 16

An urn contains 17 red marbles and 17 blue marbles. 16 marbles are chosen. In how many ways can
5 red marbles be chosen?

N 6,188 el Bl

a) s ' "\ 4 Veceler ‘o M Losed
@) 76,582,@

¢) 18,564 e (\7,5) C(\':,\\)-. Vb, S8, 0TS
d 85

e) 4,368

f) = None of the above.

Question 17

A fair coin is tossed 27 times. In how many outcomes do at most 25 heads occur?
[

E - O0-23 Weus E- = 26,27 Weeds
l_'E$$ Wore

a) = 351

b) ' 379
A D) = (3,30 > (32D

134,217,700
©) o - A7 ) — 283

d) 134,217,349 A Lf.'.-) - .\(_\j) A LE—{..)

e) 28
= Y -2x3 = \":n"\)'lns-'oo

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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f)  None of the above.

Question 18 g Sheledrly A
Given P(A) = .36, P(B) = .40 and FARMBO =N Find P(ANB).
- Al A A
a) 093 \ - (o1 x0Mar0TY)
—_ .57
by~ 0.13 V= LosT)
¢ 0.8 =oHS
Lo
¢ 036

f)  None of the above.

Question 19

Suppose P(E) = 0.4, P(F9) = 0.57, and BEERESIE0.23! Find P(E UP). olp) Lo(sd=\

Lsre\, &
w001 ) PR = \- P(FY)
5) © 067 = \-o57
= 0.43

o 020

g 03

0.
o 021 53

f) = None of the above.
Question 20

A campus radio station surveyed 500 students to determine the types of music they like. The survey
revealed that 196 like rock,_and 125 like jazz. Moreover, 20 like rock and country,

, 29 like country and jazz, and 9 like all three types of music. What is the
probability that a radomly selected student likes jazz or country but not rock? Note: A Venn diagram
may be useful here.

a)  0.280

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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2 Cicde Al = U6

SOO-4yiL = gy

b) = 0258
¢) - 0.400

\VLO »T0Nk SD Y §
d)  0.520 S 7 Soe
e)  0.440 = o.uy

94

f) = None of the above.

Question 21

A hand of 9 cards is dealt from a well-shuffled standard 52-card deck of cards. What is the
probability that the hand contains 2 Jacks?

Jecks (W) Nk Saks (Uw)

0.120078
2) r 4 | & Ve nembDer A dotvd coxds
by = 0.150078

c(v;2) x c(va) = uy\I79u3T

¢)  0.160078

0.130078 n(s) = 451'30\\ = 5,L74,079,4oe
a0
e)  0.140078 L\L.\ \ 17 Huyt
f) =~ None of the above. D074 ,0T5H®
Question 22

A classroom of children has 11 boys and 13 girls in which five students are chosen to do
presentations. What is the probability that at least four boys are chosen?

a)  0.403727 Baus () Gis (@
Y \
b)  0.100932 - 5
¢) 0302795
)« eV3) & C_L“lgy cc1310)
d)y  0.111801 s e
e) 0010870 c(x,5)

f)  None of the above.

Question 23

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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A= 2 - T e

A fair coin is tossed 24 times. What is the probability that at most 21 tails occur?

[

a)  0.00012064 E-o-2ltls o= 1,23, x4 A\
b)  0.99998206 A LE) = clam, 2 » c(39,30 % c(34ad)
PG [ e S B - %o\

c)  0.99986142

d)  0.00001794

2le) = 1- PED
| - 32— . 5,49%9%1054

PREE

e) 0.01013858

f) = None of the above.

Question 24 Al = clr, 2))

An urn contains 14 white balls and 8 green balls. A sample of seven is selected at random. What is
the probability that the sample contains at least one green ball?

‘\-
Geean(®) W\(_(m Lomghs e
a)  0.999953 : A ) e
rA 5
b) = 0.000047 : o 7
3 ‘5 -Ten- MI-IJ'\
¢)  0.140867 5 > wore Cl%,8) ey -~ 332
L ]
-]
d)  0.859133 K
) 0.979876 PE) = \ -2 (ED
EaEL 0.q79%
f) ~ None of the above. =\~ e - ©°

Question 25

A classroom of children has 16 boys and 19 girls in which five students are chosen to do
presentations. What is the probability that more boys than girls are chosen?

Gee Tragle 7 = 6.

a)  0.4015
b)  0.0135
¢)  0.4150
d) 03084
e)  0.1065

https://assessment.casa.uh.edu/Assessment/PrintTest.htm 10/28/2012
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f)  None of the above.

%7 )

D 21\

a— g0 \S
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